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QUESTION 1

Which of the following commands would be used to show the operational state of all IES services?
A. show service id 5

B. show service ies

C. show service service-using ies

D. show service id 5 base

Correct Answer: C

QUESTION 2

Click on the exhibit.

Area Id : 0.0.0.0 Adv Router Id : 10.10.10.4
Link State Id : 0.0.0.2 (2)

LSA Type : ?

Segquence Ho : Dx80000001 Checksum : Oxb111

Age : 623 Length : 32

Options : ——R—-EV6 Ho of Adj Rtrs 2

Router Id (1) : 10.10.10.4 Fouter Id (2) : 10.10.10.2

What type of OSPFv3 LSA is shown?
A. Router LSA

B. Network LSA

C. Inter-Area Prefix LSA

D. Link LSA

Correct Answer: B

QUESTION 3

In a Layer 2 VPN service, the FCS is stripped when a customer packet arrives at the ingress PE and regenerated on
egress.

A. TRUE

B. FALSE
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Correct Answer: A

QUESTION 4

A network consists of 4 PE routers. A customer requires a VPLS service and has sites connected to each PE. Each site
must have direct connectivity with all other sites. How many SDPs must be configured on each PE?

A.0
B.2
C.3
D.4

Correct Answer: C

QUESTION 5

Which OSPFv3 LSA type is similar in function to the OSPFv2 Type 3 LSA?
A. Link

B. Intra-Area Prefix

C. Inter-Area Prefix

D. Inter-Area Router

Correct Answer: C
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